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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
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students will read the question paper only and will not write any answer
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The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers I to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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tvni) Question numbers 19 to 24 in Section A are five-marks questions. These

(ix)

(x)
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are to be answered in about 70 words each.

Question. numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

AT A
SECTION A

39 guadE aoft % faftm i gefin wee + anfoas g3 foflae fme wam
How 0 2 |

Write the molecular formula of the 2°d and the 3™ member of the
homologous series whose first member is methane.

4 I3 HIYH T FeAl B, d9 39 DNA F1 F1 &1 22
When a cell reproduces, what happens to its DNA ?

frafafiga @ sj@en #, T F 100 J F91 Iverey B | IFEE R W fea
FAl Iereq oAt 7

ey — T — ;W

In the following food chain, 100 J of energy is available to the lion. How
much energy was available to the producer ?

Plants — Deer —— Lion

s 5emFFI gl F @a@ FH A 0 em PP @ 2 1 sw g =
wfafera % ww aifieaoi (wpfa, feafa, snf2) i g=ht e |

An object is placed at a distance of 30 em from a concave lens of focal
length 15 em. List four characteristics (nature, position, etc.) of the image
formed by the lens.

(i) &1, UG (ii) I-HG9 & H1&G9 & 21 a9 GfEo |

State two advantages of conserving (i) forests, and (ii) wild-life.

3 P.T.O.
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Explain two main advantages associated with water harvesting at the
community level.

waHTe ® G- fofee | @ A @ 99 8w H,S0, % anfue §
443 K W T T siman @ 2 ifubean &1 wfte foafae qon s@ sl &
|z H,S0, 1 qfw F 3g@ Hifer |

Write the structural formula of ethanol. What happens when it is heated
with excess of conc. H,SO, at 443 K ? Write the chemical equation for the
reaction stating the role of cone. H,80, in this reaction.

A% & fou gamafs wfe d wEma 3 welem R aEHdieo
afufsemati & diw faves Hifse | ) w=d, i Gi) gEfle afen &=
TH-UF I9En fafau |

Distinguish between esterification and saponification reactions with the
help of the chemical equations for each. State one use of each (i) esters,
and (i1) saponification process.

anyfi= amad |rvft | sradl o @ggl 6 @en fafee | () fee anad | ard
AT A TE 3 T W, 79 (i) et T d W F = 9 v a= & afaww
sfyerami & fre wen oftad= &ar R 2 393 3w i o wfza gfe il |
Write the number of periods and groups in the Modern Periodic Table.
How does the metallic character of elements vary on moving (i) from left
to right in a period, and (ii) down a group ? Give reason to justify your
answer.

Na, Mg 3R Al snyfaes amad awofi % det snad & a@ # e @gr g
Fa: 1,23 132 | @ @ frm a9 A (a) FEIwa Afuwad, (b) wEY
oo sfuman, 991 (o) Tanfs sfufraniaa sfusas 2 2 7= & fag
A9 I h FR wfega gfe Hifse |

Na, Mg and Al are the elements of the grd period of the Modern Periodic
Table having group number 1, 2 and 13 respectively. Which one of these
elements has the (a) highest valency, (b) largest atomic radius,
and (¢) maximum chemical reactivity ? Justify your answer stating the
reason for each.
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A Wofid] #1 U g HEwgl @Ev R |56 %Y & 9§ diF Hr A |

Reproduction is one of the most important characteristics of living beings.
Give three reasons in support of the statement.

F1fys yada a2 2 59 &y & 21 @ 3 2wt fafe )

What is vegetative propagation ? State two advantages and two
disadvantages of this method.

niuRY ®l T & fou fawfaa €1 1 de aads F gl game | @ @
F-H aehen gael & feru 78 2 2 3 Gl @1 3wEm fea gen fRd oftan
% T 3 Aayfg & | ywifaa & 2 2

List three techniques that have been developed to prevent pregnancy.
Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a
family ?

Hed 4 47 e wen e fm 6 = aved R 5 &1 @aw qwgm@ @ 9n
g fopeft St # =@ 9 @ a2

How did Mendel explain that it is possible that a trait is inherited but not
expressed in an organism ?

“Sa-famm ag a1 Fffew weR aEfEe # )7 @ sy i s afga
e s |

“Evolution and classification of organisms are interlinked.” Give reasons
to justify this statement.

Ifg #iE &m 35 g fogg feedt foarma ) foneft oft feufa & fom w29 & S
3R Bter sfafera s 2, @ 39 o9 6 vHa &= R 2 379 I Hl gfe fmm
wiitE diaet Fifsre | 3f2 39 d A qua F1 dees 99 10 D 8, @ FidfE
YU % HTER FHh BiwE g0 #7482

If the image formed by a lens for all positions of an object placed in front
of it is always erect and diminished, what is the nature of this lens ?
Draw a ray diagram to justify your answer. If the numerical value of the
power of this lens is 10 D, what is its focal length in the Cartesian
system ?

5 P.T.O.
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w19 % Tl fism g vaa v & fagw =1 i fofae | g asE &3
gdum fusdi g 77 6w wor gutar f6 vaa wemwr @ auit &1 = 2 2 fw
e Wieet guiee 5 9@ w1 Gl Wa yHm 49 ke § 302 gafidd
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State the cause of dispersion of white light by a glass prism. How did
Newton, using two identical glass prisms, show that white light is made
of seven colours ? Draw a ray diagram to show the path of a narrow beam
of white light, through a combination of two identical prisms arranged
together in inverted position with respect to each other, when it is
allowed to fall obliquely on one of the faces of the first prism of the

combination.

(a) 9 TFH AT AEAP WHaH FEEA 8, A A 5 fow amE 2
ayes fasm % e oz amed # % sy e geaiea e &
fou, “gronur wipfae BE — e @1 B aE” fea s wE deE
FARY | T F FH F=GU F 90§ JH TS § IPEHAl I9H B &
fore #5182t 39 gamse |

) Tt v 39 =1 AW 3R IEE ==RE ifau fas g Wiess =1
3 2 e & T o 9% |

(a)  Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring
awareness in your neighbourhood, on ‘how to save water’.

(b) Name and explain any one way by which the underground water
table does not go down further.
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Fo dfinl F TGGFET T Fa AGT 2 ? VoA, UeehA N TewhrgT i

gusrdta Afvl @ anr= g3 ffae o s aoft % wan geer i g
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Why are certain compounds called hydrocarbons ? Write the general
formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical
equation to show the necessary conditions for the reaction to occur.

(a) WM |G 999 a3 & fAefafaa g s um & Sl @ 3gE hifau

(i) vEEE
(i)  mafer
(iii) Helifua s

(b) WHE HIEI H wWiEw & §EA1 3 HEl 1 IgE HIfu |

(a)  Write the functions of each of the following parts in a human
female reproductive system :

(i) Ovary
(ii)  Uterus
(iii)  Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

Tedh F1 UH-Ush ISR 3t JUTfoia wiequl i et @ & o= faser
#$ifse | el =afie gro s gegf Sfiea-ae | Inifda awovsaya smefl didt
H FUHTG 91 TE 2 2 39 G249 H1 HROT IGE S T HitA |

With the help of one example for each, distinguish between the acquired
traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next
generation ? Explain the reason of this fact with an example.

7 P.T.O.
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w4
frmgll (w) % @y sfifragh v # o ot mn 2,
yiteem fau @ Fr=fefea woai & 3w difsu .
w4 forea2ht yfafara-gf
g u (em) v (cm)
1 - 100 +25
2 - 60 +30
3 - 40 + 40
4 30 +60
5 - 25 + 100
6 -15 +120

(a) 3@ @F F By g0 F N B 2 H7H I A 9 F fow wmnw G |
(b) 39 Yz 4 %y gEw fafay i wd 78 2 | 27 Freed smoa feg emum

W fewen 2 2

(c) Toddl sfua Jum &t g9aw w9 @@ 2 & 98w & fou few sme
difau | smada &1 e wH ft [ Hifse |

Analyse the following observation table showing
image-distance (v) with object-distance (u) in case of a convex lens and

answer the questions that follow without doing any calculations :

Object-Distance | Image-Distance
S.No.

u (em) v (cm)
1 - 100 + 25
2 - 60 + 30
3 - 40 + 40
4 - 30 + 60
5 - 25 + 100
6 - 15 + 120

variation of

(a) What is the focal length of the convex lens ? Give reason to justify

your answer.

(b)  Write the serial number of the observation which is not correct. On
what basis have you arrived at this conclusion ?

(c)  Select an appropriate scale and draw a ray diagram for the
observation at S.No.2. Also find the approximate value of

magnification.



